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WEST BENGAL STATE UNIVERSITY i, ¥22
B.A./B.Sc. Honours 2nd Semester Examination, 2021

ECOACOR04T-EcoNoMICcs (CC4)
STATISTICAL METHODS FOR ECONOMICS-I

Time Allotted: 2 Hours , Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

1. Answer.any five questions from the following: 2x5=10
fsfeiRe @-ceiet 2i6fe elvss Tea s

(a) Distinguish between a variable and an attribute.

5e13 GRR, @eNTHIP-aq Ty AN ot~ st

(b) With examples distinguish between class limits and class boundaries.

TRIZZHZEANS T st @ @ Awicsa sy e Foet @t

(c) Briefly discuss the Pie-diagram as diagrammatic representation of statistical data.
FAfrer Hoaa MY Torgiemia «iafe B 7€ Beaa REFe st st

(d) Give two examples where Median or Mode is used rather than Arithmetic Mean
as a measure of Central tendency.
% Trizae Srard I (@I (RS T T, T A FRINLSF T I A S FEw
eROIFwRNIAT | .

(e) If the Arithmetic Mean and Geometric Mean of two positive real numbers are 10
and 8 respectively, find their Harmonic Mean.

7% A LIS TR (TE 91T 93R STAGH G AT 10 GR 8, ©Oitnd B T
o fefa

(f) What is seasonal fluctuation?
e #AfRea T a0 9

(g) In a .moderately skewed distribution, the mean, median and coefficient of
variation are respectively 50, 53, and 20%. Find coefficient of skewness.
IO SeAfSs gl Retet-= cFeg oIE, T4l G (SHIF-aF T IAF 50, 53 G
20% 1 efetaasy-a7 s frefa et

(h) What do you mean by Index numbers? Explain its utility in Economics.

T MY IS [ @I 2 WROTe-97 oot wimT Tt
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2. Answer any four questions from the following':.|
fsfEiRe @-ie 513 @ivsa Teq whes

(a) What do you mean by a semi logarithmic chart? Point out its advantages over a 2+3
simple line diagram.

AR TR B T AT A I G i Rl B A

(b) Prove that AM > GM = HM for any set of positive values.

2 IR - (PI TRYS HGS NH-9F &) (o MG > @reitad o > 17 o1
(¢) Explain the utility of measures of Relative dispersion.

weeifirs Refow s{Reia i ettt a1 70|
(d) Discuss briefly different types of kurtosis.

Srwois Rfew wamafe sRewtet st 3@t

(¢) Prove that b, xb, =r*, where r is equal to correlation coefficient,

b, = regression coefficient of y on x and b,, ="tegression coefficient of x on y.

2V I @ by, X by, =r?, @A r = 75foq 7207, b, =y on x-43 S FRolE
R b, = x on y-a3 A3t e

(D Explain different components of Time Series.

1A Aifw Rfow Totmma e siwst @i
3. Answer any two questions from the following: 10x2 =20
RS @i 7f6 avra Tea wes
(@) () What are the desirable properties of a good measure of Central tendency? 3+3

Compare mean and mode in light of these properties.

@3 SICT (e eferet #AfRweR-a7 FI Wt S @ @3 Rt
*HfRCefHFee TP o6 6 RYIeF NF-93 G TS DT T

(i) Show that the weighted Arithmetic Mean of first n natural numbers whose
weights are equal to the corresponding numbers is equal to (2n+1)/3.

&AW n FERF RAW o FFT RYF W 201, el @ 7S @ e
FIRE R HYS @RF G- T (21 +1)/3 =R
(b) () Explain briefly why standard deviation is regarded as superior to other 4
measures of dispersion.
e RS o Stey Regfom wifmist e @ arzercatey

(ii) The mean and standard deviation of a sample size 10 were found to be 9.5
and 2.5 respectively, later on an additional observation became available. It

was 15 and was included with the original sample. Find the mean and
standard deviation of the 11 observations.

10 FeRFE G TEE Mo g T Rpfe AT 9.5 @R 2.51 i@ wiwe
B T~ o TR AT 151 O 115 T o1 @ I Ry 70 2@ 2
(¢) (i) If three uncorrelated variables x;, x,, x; have same standard deviation, find 5
the coefficient of correlation between (% +x;) and (x, +x3).
TER o vere X1, Xy, X, -9 S Ryfer o wwe =&, (X, +x,) @R
(x, + x3) -9 RS @etitEa Wi e et
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(ii) From the data given below:

A 2ve oY (WS
Marks in Economics f—T_T‘T——T—j
_ | e e A 2528|3532 (313629 38
Marks in Statistics -‘E '4—6— —4; ;;;—;?{
afpfewee s | | | | | | 1
Obtain the two regression equations.
RSz @i-wy el Tt

The most likely marks in Statistics when the marks in Economics is 30.

T RIS el T 30 o AR ey T fefa

Calculate price index number for 2020 with base year 2010 using the
weighted Arithmetic Mean of price relatives from the following data.

T el B R 2010 F1-GF FHE-T 4 2020~ F 7o R ffa st
W e AToA SR (AT NG AFOTS |

Commodity | Price @) W () | Weight
- (T) 2010 2020 | (9%9)
A 30 52 8
B 25 30 6
C 130 150 3
D 35 49 5
E 70 105 7

Using the data given below, fit a straight line trend equation by the method
of least squares and estimate the value for 2022.

R @G S AR, A 3 Amfere @ e @Re et Wi ey
<T@ 2022 HEH RO Jw A vt

: Students have to complete submission of thei
. . their Answer Scripts through E-mai
Z; ;hezfr own respe?ttve 'colleges on the same day / date of axaminatiin m:;l:r:ll/ }Z:afsapp
of exam. University / College authorities will not be held responsible for ;ra'fne;

( )‘
.
subn"ssflon at in p’ Opel add’ess Stude"ts are St’o"glv adVlsed not to Subn"t multtple

"x





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

